SHENEZYT

(RnELY - #EENEFY)

F M &Zui( )
(h 8X125X56 (1) 44+6.6+3.4
(2) 8X4X25 8 67+6.9+3.1
3) B6X25X4 @ 7.94+21+2.1
4) 38+71+29 (10) 78+64+22
(5) 86+ 14+38 (1) 85X8X 125
(6) 25X9X4 (12) 8X67X 1|25
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HENEFY9g

(RnELY - #EENEFY)

() 8X|[25X56
= (8X125)X56
= |000X56

= 56000

(2) 8X4X25
= 8X(4X25)
= 8% 100
= 800

(3) 56X25X4
= 56X (4X25)
= 56X 100
= 5600

@ 38+71429
= 38+(71+29)
= 38+100
- 138

5) 86+ 14+38
= (86+14)+38
= | 00+38

= |38

6) 25X9GX4
= (25%X4)X9
= 100X9

= 900

I TTR )
1) 44+6.6+3.4
= 44+(6.6+3.4)
= 44410
= 54

® 67+6.9+3.|
= 67+(6.9+3.1)
= 67+10

=77

@ 7.9+2142.1
= (7.9+2.1)+2]
= 10+21

= 3|

(10) T8+64+22
= (78+422)+64
= 100+64
= 164

(11) 85X8X |25
= 85X (8X125)
= 85X 1000
= 85000

(12) 8X6TX 125
= (8X125)X67
= |000X67
= 67000
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